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GENERAL INSTRUCTION TO THE EXAMINEES:
1. TR FdUE 319+ U UF U AHih ifeardd: ford |

Candidate must write first his/her Roll No. on the question paper compulsorily.

2. g1 g9 B SR 2 |

All the questions are compulasory.

3. AP U BT SR &l 5 SR JRAdT H 8 ford |

Write the answer to each question in the given answer book only.
4. TS Ul 3 T<IRP Woe & I T4 & IR b A Bl ford |
For questions having more than one part the answers to those parts are to be written

together in continuity.



g — (30)
SECTION-(A)

(1) (i) =& UIITH DI I B AT error 3 & AT EXCEPION Bovvrrvororeroe

(@) Created (@) Asserted

() Triggered (%) Raised

When an error occurs during the execution of a Program, an exception
is said to have been ...........ccveeennnneen.

(a) Created (b) Asserted
(c) Triggered (d) Raised

(i) Readlines( ) HUS ATTH TTT Bovvrrroroorreseren

(31 String (@) List
(%) Dictionary () Tuple
Readlines( ) method return ...........ccovvveeenveeennn...
(a) String (b) List
(c) Dictionary (d) Tuple
(iii) Stack H T elements®I TOP H Siled &l Ped B |
& POP (&) PUSH
(@) INSERT (=) (a) (and (b) both
.............. adds a new elements at the TOP of the stack.
(a) POP (b) PUSH
(c) INSERT (d) (a) (and (b) both

(iv) AT Storage fSarsw =

(31 Hard disk (@) SSD

(9) Pen drive (%) all of the above
Commonly used storage devices .

(a) Hard disk (b) SSD

(c) Pen drive (d) all of the above

(v) Fret & 1 STeIee & T © —

(3) ST IR AT & BB USe] PI UM HRar € | 5 A aee 91 el
AT 7 |

(@) I8 ARNe Igqed & forw SeT &l S8 H_ATL, 991 3R FUg fan I = |

() IE il M MR iR Sifeerar &1 8 Aahdr 2|

(]) SWRIad 4T |
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Which of the following properties belong to the database?
(A) A database is a representation of some aspect of the real world also called mini
world.
(B) It is designed, built and populated with data for specific purpose.
(C) It can be of any size and complexity

(D) All of the above.
(vi) SQL # e wHIvs | <ad |UE & I[ON Bl Il Sff Fohal & | Vs
@1 Alter Table (d) Modify Table
(&) Change Table (%) Hide Table
In SQL, which command is used to change a table's storage characteristic?
(a) Alter Table (b) Modify Table
(c) Change Table (d) Hide Table
(vii) A computer Network- )

(3) & PHYCR P BISIAR IR SHSD HCHI BT IS ¢ |
() I8 IR T R TRER IS g o |
() FHTEA! IR FERIT Bl AT B Dl AT <l = |
(T) SURIad |47 |
A computer Network-
(A) It is a collection of hardware components and Computer?
(B) It is interconnected by communication channels.
(C) Allows sharing of resources and information

(D) All of the above
(viii) Bandwidth &1 #7aT ST 28— Y
(31 Byte per second (&) Bit per second
(9) Hertz () Amperes
Bandwidth is measured in -
(a) Byte per second (b)) Bit per second
(c) Hertz (d) Amperes
(ix) Malware @1 8= ax Sl fBefl HHaor & A & ufdafa a1 dae 781 995 2 | Ya
(31 Trojans () Worms
(@) Rookits (%) Virus
Identify the malware which does not replicate or clone through an infections
(A) Trojans (B) Worms
(C) Rookits (D) Virus
(x) ............................ TUdh UTg object g S Ud error BT TR HdT 2 | Va
(37 Interpreter (&) Compiler
() Exception (%) Module
..................... is a python object that represents an error
(A) Interpreter (8) Compiler

(¢) Exception (D) Module



(xi) Stack 3TTHROT BT &

@ FIFO (@) LIFO
&) FILO (<) LILO

Stack follows :-
(A) FIFO (8) LIFO
() FILO (o) LILO

(xii) Stack 3R Quene TMI AR &1 & foly fhd ST WAAT & ITANT BT ST |
(@) Stack (¥) Array
(&) Quene (?) Deque

Which data structure can be used to implement both stack and quene
(a) Stack (B) Array
(©) Quene (D) Deque

(xiii) 579 &7 I & ATfeIdT § U & Slot H map B & df S HET oI1dl ¢ |
@) collision (@) Sorting
(&) Searching () Merging

When two elements map to the same slot in the hash table its is called.
@) collision (@) Sorting
(7 Searching (%) Merging

(xiv) fodl @ & GUT DI [l 929 9 4§ @+ a1 qAaRerd &)1 ol ufdhar
HT el ST 3 |
(@) Searching (&) Sorting
(7)) Rearranging (?) Merging
The process of placing or rearranging a collection of elements into a particular
order is known as

(A) Searching (B) Sorting

(¢) Rearranging (D) Merging
(xv) JMAR TR IWANT -1 dTell storage device

@ SSD (&) Pen Drive

(%) HDD (%) All of the above
Commonly used storage devices,

(a) SSD (8) Pen Drive

(¢) HDD (D) All of the above
(xvi) F=foRaa & | 99T 99 BICT ead 2 |

@) WAN (@) MAN

(& LAN (%) None of the above
Which of the following is the smallest network ?

(A) WAN (8) MAN

(¢) LAN (D) None of the above

Q2. Fill in blanks
(i) ...................... search fbdl 91 elements &1 ‘Es‘ﬁ@ ﬁ:ﬂ, Udh R ¥ TUdh
A @ elements &1 STE BT © |
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(ii)

(iii)
(iv)
(V)

(vi)

(vii)
(viii)

(ix)

...................... search checks the elements of a list, one at a time, without
skipping any elements.

Bl faey 9 H T@l & WIS B YA FARAT BRA DI hAT Bl HET ST
gl Ya
The process of placing or rearranging a collection of elements into

a particular order is known as ...........cceeevveerveennnen.

Front 3R Rear &1 SUINT ...ooocoovoeer T /AT AT 3 H fBar e 2 !
Front and Rear are used to indicate begining and end of ...............
.............................. Udh Python object g il Ud error ®I gaTal = Ya

....................... is a python object that represents an error.

...................... Udh YHMH dT U8 % Sl data base @I SUIRT T maintain HR & %—I’Q

STANTHAT BT FeH I ¢ | )
A ... is a collection of programs that enables users to rate mantain and use a
database.

fodY e & IS fARIVdT foreign key ® | IfS I8 fh) o Havel H ............ key 8 %
An attribute in a relation is foreign key if it is the .............. key in any

other relation.

FTP 216 T 3 & oo . Ya
The term FTP stands for ................. .

......................... B3 ISl -edd BT FUE T | )
........... is a collection of many separate networks.

VOLTE @7 31f 8 Ya
VOLTE stands for ........cccccoocveviieniiiiinenen.

...................................... Ud legitimate software g o Udh IR il 8l 5 & 9TS virus

Pl INE DI BT 2 | Vs

................ looks like a legitimate software which once installed acts like a virus.

Q3 ¥ I vl & SR fofag |

Answer the following questions.

(i)

(i)

(iii)

(iv)

Pythonﬁ ID Error Exception Cxs| HIeH P SIT B P 1
How to catch ID Error Exception in Python ?

Python # &9 Open () &1 SUINT &d HA & ? 1
When we use open () methods in Python ?

Data file ¥ Data & Bytes(n) @I fAfdw AT &1 g & foIv fod ®waRM &1 SUART fhar
T B | 1
Which Method is used to read a specified numbers of bytes(n) of data from a
data file.

forefl e § BT @ A AL § & e 2 [90, 120, 110, 115, 85, 90, 100, 110,
110]. B3 & SHarg &1 ARIT T Mean ST DIFSTT | 1




Q4

Q5

Q6
Q7
Q8
Q9

Assume that height (in cm) of Students in a class are as follows [90, 120, 110,
115, 85, 90, 100, 110, 110]. Find Mean or average height of the Class.

Database schema @1 87
What is Database schema?

(vi) SQL # & update statement & JART H ofd & ?

When we use Update statement in SQL ?

(vii) Computer network & ®I3 Ui AT foIRay |

Write any five components of computer network.

(viii) Transmission Media @1 8raT € ?

What is transmission Media ?

gug — (d)
SECTION -(B)

Catching an exception &I AH=EY |
Define the term Catching an exception.

A foRg PUT (a) T (b)H T IR B ?
(a) p =open("Practice. txt", "r")
p. read (0)
(b) With open("Practice. txt", "r") as p:
X =p.read( ).

What is the diffence between the following set of statements (a) and (b) ?
(a) p =open("Practice. txt", "r'")

p. read (0)
(b) With open("Practice. txt", "r") as p:

x = p.read( ).

Stack WR &Y ST HH+1 dTel AT AR T 27°

What are the basic operations that can be performed on the stack?
Deque <cT 23U ¥ UHR ¥ SR ST TI8T I 3T ¢ ?

How is queue deque data type different from deque data type?

TEh o I 3faRIE! A H HHdE DI & (oY 99 Aic YIRH o |
Write a bubble sort algorithm to sort a list in descending order.
Collision @1 87

What is collision?
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Q10 Structured data 3iR unstructured data # 3R ferRay | 15
Differentiate between Structured data and unstructured data.

Q11 vs wwre & A T &1 amowe (Q(fesras #) 34, 34, 27, 28, 27, 34, 34
fear rar 81 9 9vwE @1 standard deviation SiTd ST | 15
Consider the temperature (in Celsius) of 7days of a week as 34, 34, 27,

28,27, 34, 34. Find the standard deviation temperature.

Q12 Single Row Function 3R Aggregate Function # ®13 31 3R forfay | 15
Write any two difference between Single Row Function and
Aggregate Function.

Q13 3 mw SQL Statement T 3T3CYC %ﬁ@(’ | 15
(a) SELECT POW (3,4) (b) SELECT LENGTH ("INDIA")
Write the output produced by the following SQL Statement.
(a) SELECT POW (3,4) (b) SELECT LENGTH ("INDIA")

Q14 HTTP w fewofl farRey | 15
Write short Note on HTTP.

Q 15 Dos 3R DDos 3ic® # 3R forRau | 15
Differentiate between Dos and DDoS attack.

Qg — (9)
SECTION -(C)

Q16. Stack &1 STINT &RD UH ReT & Rad # forags &1 v uium forlRey | 3

Write A program to reverse a string using stack.

Jrerar / OR

( (243) * 4/2) ) + 2 SIRIGT IAAIIRT BT STINRT BRI gU | Stack data structure T SYART
PRD BISH! & A & oIy =R TR =ROT Ufshar fe=m |

( @+3) * (4/2) ) + 2 using above Expression show step by step process for

matching parentheses using stack data structure .

Q17. Python ¥ v g forRau RSra® RS palindrome & AT 81 | 3
Write a Python program to check whether the given string a palindrome or not
using deque.

arerar / OR
Quene 3R stack @1 eI BN |

Compare and contrast queue with stack.



Q18.T® &I # Y & AT BTF &I A STl ST 8 | U Y ford ST UAd A &l
RIET HH H TR PN |
During admission in a course, the name of the students are insert.
Write a programe to store every name in ascending order.

3rerar / OR
fhl List Eﬁascending order # ®HIg BT B foTU selection sort DT algorithm forer |
Write a selections sort algorithm to sort a list in ascending order.

Qs — ()
SECTION -(D)

Q19 Linear €9 UITH &1 IUANT HR< g Swilde dog 8 &I oI g List [42, -2, 32, 8,
7,9,42,3,8,44] 5 @ol | I8 DI Position [G@RIATT 3R $H®BT a7 31 EFTT?
Use the Linear search program to search the key with value 8 in the list
having duplicate values such as [42, -2, 32,8, 7,9, 42, 3, 8, 44]. What is
the position returned? What does this mean?

3rerar / OR
U% Num List H 7 elements® [8, -4, 7, 7,0,2,9] S Num Lisy § 5 17 @I 2 |
Linear < UETIIRH HT WINT R I $HD U ford |
Assume that the num List has seven elements [8, -4, 7, 7,0,2,9] so n=7.
We need to search for the key num List =7. Write The step by step process
of Linear search using Algorithm.

0.20 DBMS & H& 3[@ERN &1 quiF BT |
Describe Key Concepts of DBMS.
3ferar / OR
Relation @ 9 Hgcaqel Ul &1 quiF HIF |
Describe Three important Properties of a Relation.
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